10

. m(6arctan3 — In10)
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dg()
dx

w/4 d /4
/ 3se02x-£da: = 3/
0 dzx 0
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0
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t=1+tan’z2 2|25IH,

=0 o

8
I
—_
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8
I

M}

|=IKe)
SREEEX

w/4 d
/ 3 sec? m—g dx
0 dz

N

= 2tanzsec’ zIn(1 + tan® z)

2sec? ztan zsec? zIn(1 + tan® z)dz

2(1 + tan® z) tan z sec® z In(1 + tan®z)dx

2
- 3/'Hth
il
1 ) 2
= 3| =t’lnt —/'hdt
5 s gy 2

1 i 2
= 8|kt~ -4 d
2 4 .

9
= 6ln2— -
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f'(z) = 2nsin® 'zcosz

f'(z) = 2n(2n—1)sin®™ %z cos’z — 2nsin®"

8
i)

= 2nsin® %z [(2n — 1)(1 —sin’z) — sin® z

2nsin® 2z [(2n — 1) — 2nsin’ 2]

0,2 f'(x) = 08 FEFTH T,
2n — 1 1
in%(a,) = = ] = o=
sin”(a,) o S

: : 1\"
o) = 3, (1—%)
1 —2n -1/2
= i ==
1
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= Jgnz Sede g9 1T 2k

"Li

27 (=2,2) oA |22 — 4] ¢} z +29] 27]E BlaLsH,
(:E+2)—|:c2—4|=z2+:1:—2:(:E—l)(m+2)9_§_ B E
I (-2, ) QMETz+2< |z — 4] o],

7 (1, 2) M=z +2 > [2* — 4] o]t

3 3
V = / m(2? — 4)% dz +/ m(x +2)* dz — / m(z® — 4)? dx
il 2

1 8 . 1 ¢ 1 8 . .
= i 216z 4w |crt+ 20 +4x| -7 |22’ - —z3 + 162
57 73 LT s N FR )
33 26 211 152
= — — 24+ 48 — 4+ 164+8) — — — —+16
s < 5 + > + 3 + + > ™ < 5 3 + )
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oz BE(5]2 28)

1
azge (¢ g +1) ol
lim y=1, lim y =00 0|1, lim y = —oc, lim y =00 o|lB &,
z—0t T—00 z—1~ z—1t

27 A2A o = 1€ 7140, 212 Bhet 2ok
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